Lecture 3 - scribbles

Tuesday, September 8, 2020 14:26

’l?J(XM‘ Lo ish o rtaeo
¢ prome \C Mo&.o.Qs

0T, rongei, o, (contaet: mtfiaic BV
Z=(%Y) (5t Oy <0y
( ch(m@;) ?mlyﬁﬁ 2 " Gint pw (N o 34>
playg) = PIx=c , 72yl

Gt st
Con W(dzn{" M":ﬁ Leyens 4( ﬂ(x’y) as —{ﬁ%ﬁ
X0 X= S X 6 whlon di cesdh % eveq
0 Y okow ¥ ol
Ya| V2 O
CEcaer Y XY amedds P bacragnd =§ Hers) i
f by
'(and“

\hamcfm& dichibubin (i the crtat g o it dxsf,)
Ly clfs‘r.qg a Comg{' o6 randem Vetor~
Pix-=x = 2 P, ol o
3(—,&25/ P(R.j)
]l,\hMSalMsz‘;g (M]'_ >/35
%@M&M@z
) X 1) l/bvw&e{)_m&m*‘ oé >/ @/7 f(x) 5>= ?(z\) p[_&j) V(73>€ szﬂy
hoﬁ{'la\ - X AL >/

IFT6269 Page 1



s AV X”“‘!X(’\ Mo KYVW"II% GMMT» 157 ‘?(’I]m>: ﬁLP{If) \713):/\ G
=) A

e
sl
2o PRl 3s | gl
cfe. diswte, e box Fm{—f“‘-‘—
cadﬁ\b/\g"f_qﬁ 5
'ér@wzk{l:;,wf@?(w;fo A \SZ
Yo PAIB)E pAN D) Yﬁ‘b
(7
ool
Asido
Anp  weA, wes Pw)=Z_ M)
Ae‘m’rbmcé
x| Yy Q-

0 Sj@ diswle R.U. -
b, "rsha o

peln) 2 P (Ko [You) 2 P Sxer, 7248 5ot
P(Eyeal) § et guf

(7( ’3} O(: ’7(1
€ P j> r\owdjah\ sk épbﬁ_&g)’f@)

"M@g ?(I\Qé %

IFT6269 Page 2



%
subtle. ‘w—\ 5 pfzfj> % % lwhen P(55=O
hod
[ e inlgpded SCUY plaly) = plhaof = gy =pk) [
Ps)

Mﬂﬂ, (f Cmd?{mmg E ?(h“w"‘ﬁ ConeA { fumor e aswemf= ’&")

Note: the paradox about conditional probabilities that | was looking for was indeed (as Jacob Louis Hoover rightfully pointed out)
the Borel-Kolmogorov paradox - have a look at it if you're curious!
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https://en.wikipedia.org/wiki/Borel%E2%80%93Kolmogorov_paradox
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